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B.Com./B.Sc,/B.C.A/B.B.A./B.Sc. (Home Sci.)/B.F.A.
(Part-I) Examination, 2023

ELEMENTARY COMPUTER APPLICATION

(Compulsory)

Feifa au=g - 2 =52 | [ 3tferehem 7ek - 100
Time Allowed : 2 Hours | [ Maximum Marks : 100

Important Instructions
Tgwagut

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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1.

3.

Who developed Integrated Circuit Chip ?
(A) C.V.Raman

(B) Robern Nayak

(C) J.S.Kilby

(D) C.Babbage

Scanner is used to scan :

(A) Text

(B) Picture

(C) Programmer

(D) Both(A)and (B)

Internet Exploreris :

(A) Browser

(B) File

(C) Slide

(D) None of these

B-173

1.

2.

ganifee wfehe faq o1 fawm &

(A) Gt . T
(B) Uad =&
(C) 3. T@. feresit

(D) . St

= fra e ?

T ST B S F & T ga e

(A) T2
B) TR
(C) IR

(D) (A) 3R (B) 3

5T TR ¢
(A) FEH
(B) wTEd
(C) wEE

(D) 379 9 HIE &
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4. Volatile Memoryis:
(A) RAM
(B) ROM
(C) PROM

(D) None of these

S.  HTML stands for:
(A) Hyper Text Markup Language
(B) Hyper Text Makeup Language
(C) Both(A)and (B)

(D) None of these

6. Extension of MS Word File is :
(A) Txt
(B) .bmp
(C) .Doc

(D) None of these

7.  First Page of the website is known as :
(A) Pageone
(B) Page zero

(C) Home page

(D) Service page

B-173 (4)

STEE BT R

(A) RAM

(B) ROM

(C) PROM

(D) =78 ¥ ®IE &

HTML &1 90 - & :
(A) TEW IFZ HH3TY o
(B) TEW IFZ HH3TY o
(C) =T (A) 3 (B)
(D) T | = Ta

TH.TH.9E HEe]  TRIIH © ¢
(A) Txt

(B) .bmp

(C) Doc

(D) T & ®FE T&

YeETGE HT YT US| 1 FHEeAdl & ?
(A) TS =1

(B) USRI

(C) B™ IS

(D) afdw ot
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8.

9.

10.

Which key is used to acceptance of data by
cell ?

(A) Enter

(B) Insert

(C) Tab

(D) Shift

Which is paste key of MS-Word ?
(A) Ctrl+C

(B) Ctrl+V

(©) Alt+X

(D) Ctrl+A

Base of Hexadecimal Number System is :
(A) 16

(B) 8

(©) 10

D) 12

B-173

8.

10.

fRd 1 1 STAR A R SRR HLA H
fopan ST © 2

(A) Enter

(B) Insert

(C) Tab

(D) Shift

™. T TR T
(A) Ctrl+C
(B) Ctrl+V
(C) Alt+X

(D) Ctrl+A

TS T faen 1 SR §
(A) 16
B) 8
(©) 10

D) 12
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11.  Which type of software is MS Office ?
(A) System Software
(B) Application Software
(C) Utility Software

(D) Language Translator

12. Which one of the Fastest Memory ?
(A) RAM
(B) ROM
(C) Cache

(D) HDD

13. Which type of data can be sent by e-mail ?

(A) Audio

(B) Pictures

(C) Video

(D) Allofthese

B-173

(6)

11.

12.

13.

TH.TE. AhE fohd YR o1 Wieam © 2
(A) Toe=a AR
(B) Ty HIFEAI

o ~

(C) Ffefadt g

(D) oAt ZraeeR

T ST HHRT DI 7 ?
(A) =
(B) W
(C) &9

(D) TA.ELEL.

9d & gRI foh TR #1 TRT A9 gRd
g2

(A) affean

(B) o=

(C) difean

(D) 3 |+t

BRI-618



14. Which one is not a Language Translator ? 14. 791§ | HE-T1 9O STIEF ol © 2
(A) Compiler (A) hHIRER
(B) Processor (B) TR
(C) Assembler (C) STH™IER
(D) Interpreter (D) T=UX
15. 1GBisequalto: 15. 1 GB R ¥ :
@) @1 @) @1
®) 2 ®) 2
© @ © @
D) )% D) )%
16. Shortcut key of Hyperlink in MS-Word is : 16. TA.TH. 9 H TEWRAH & few yewe ‘=i’
(A) Ctrl+H ®:
(A) Ctrl+H
(B) Ctrl+L
(B) Ctrl+L
(C) Ctrl+K
(C) Ctrl+K
(D) Ctrl+F (D) Ctrl+F
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17. Arrangement of data in a Logical Order is 17. <11 &l fht dffsiera o § Hafed we

calledas: I FEAd & ?

(A) Sorting (A) Foftelg

(B) Classifying (B) afieRTor

(C) Reproducing (C) wfafafy

(D) Indexing (D) STIHHUITHI
18. What is the extension of file made in MS- 18. TH.UH. THHE-2010 | o HEA I

Access-2010? T BT R

(A) .Doc (A) .Doc

(B) .accdb (B) .accdb

(C) .mdb (C) .mdb

(D) XLS (D) XLS

19. In MS-Power Point, shortcut key to insert a 19. TH.UY. YroyEe | 76 € SeH i

new slide : TEHS HI T :
(A) Ctrl+N (A) Cul+N
(B) Shift+N (B) Shift+N
(C) Ctrl+M (C) Cul+M
(D) Shift+M (D) Shift+M

B-173 (8) BRI-618



20.

21.

22,

23.

(01111011100), is equal to (?) ¢ :
(A) 2BA
(B) 3BA
(C) 2AB

(D) None of these

The quality of printing is measured in which
unit ?

(A) cpm

(B) dpi

(C) bps

(D) ppm

In Hard Disk, the track O is :
(A) Outer Most

(B) Inner Most

(C) Machine Dependent

(D) None of these

The Device Introduced by Blase Pascalis :
(A) Adding Machine

(B) Abacus

(C) Difference Engine

(D) Punch Card

B-173

20

21.

22,

23.

(01111011100), FATA B (?) 6 -
(A) 2BA

(B) 3BA

(C) 2AB

(D) =78 ¥ ®E &

RIFET o o AT Y THE S
(A) cpm
(B) dpi
(C) bps

(D) ppm

e fem T OdH® :
(A) HoH e

(B) ST=RaH

(C) wefd X iR
(D) =T | #Ig T

IS IR A Tohd IYRI0T 1 T&A foham ?
(A) TfET Hei

(B) o=y

(C) fewha gom

(D) 79 HE

BRI-618 P.T.O.



24. Which one is not a Network Topology ?
(A) Star
(B) Car
(C) Ring
(D) Bus

25. The other file with an e-mail is called as :
(A) Attachment
(B) Compose
(C) Subject
(D) Inbox

26. JPEG stands for:
(A) Junior Photo Expert Group
(B) Junior Photo Experience Group
(C) Joint Photography Experience Group

(D) Joint Photography Expert Group

27. Which shortcut ‘key’ is used to display slides

on full screen ?
(A) F2
(B) F3
(C) F4
(D) F5

B-173
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24.

25.

26.

27.

= | HIE Tk ek TSt T8l § 2
(A) =R
(B) ®R
(©) for

(D) =4

T-TE & T T A A B ¢
(A) STETA=

(B) S

(C) T

(D) sTard

JE S QAT F
(A) SR ®E e 9

(B) SR el Todiied 7
(C) Sifs= RISHITH! THRT Jq
(D) SiE= TRISHTH TS 9

I TidHe ‘B TS F W WA W
TRf et § 2

(A) F2

(B) F3

(C) F4

(D) F5

BRI-618



28. Use of the Pen Drive : 28. U9 ST TEHTA i Wl ¢ ¢
(A) Forcollection (A) YUSR &
(B) For calculation (B) UM T
(C) Forelectricity backup (C) fostett SepsTd ¥
(D) None of'these (D) T & HIE &l
29. BarCode Reader is................. . 29. SRR [T T

(A) Inputdevice

(B) Outputdevice

(C) Processingdevice

(D) Storage device

(A) TTIS ITHI
(B) TSR SUHI
(C) WrafET 3Iqehto

(D) HUTU ITHIT

30. Acronymofthe URL: 30. 9.3TR.TS. FI fawaia €9 %
(A) Uninterrupted Resource Location (A) Tzeee AWM dhem
(B) Uniform Resource Location (B) IFiH RE™ drhy™
(C) Unified Resource Locator (C) gFeee RE™ drheX
(D) Uniform Resource Locator (D) IATRE REr TRt

B-173 (11) BRI-618 P.T.O.



31.

32.

33.

.gov, .edu, mil.net Extension is known as :

(A) DNSS

(B) Top level Domain

(C) E-mail Targets

(D) Web Machine Address

The process to move from one site to another

site in web is called :
(A) Ramming

(B) Linking

(C) Website

(D) Template

Internet Explorerisa:
(A) Web Browser
(B) Calculator

(C) Music Player

(D) Chatroom

B-173
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31.

32.

33.

.gov, .edu, mil.net % Extension %! gl STl
g

(A) SlLTA.TE.TE.

(B) =M oiaal A

(C) -9 e

(D) 3 H3fA TgH

Web # T& HEC § TR HEE W 1 &
Hfsha Feam § :

(A) Y

(B) fafewm

(C) d=EmEe

(D) e

T T © ¢
(A) o9 TR
(B) herdheret

(C) =S =R
(D) I &®H

BRI-618



34.

3S.

36.

On PC, where is the Document temporarily

stored ?

(A) RAM
(B) ROM
(C) CPU

(D) Flash Memory

One megabytes equal approximately :
(A) 1000 bits

(B) 1000 bytes

(C) 1Million bytes

(D) 1Million bits

Full form of HDMI :

(A) High Definition Multimedia Interface
(B) High Definition Memory Interface
(C) High Definition Memory Interchange

(D) High Definition Markup Interface

B-173
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34.

3S.

36.

. H SHES SR €9 9 wal Gited
wIE ?

(A) =

(B) I

(C) H.4t7.

(D) Wt TERY

T BTEIEE T SRR Bl &
(A) 1000 foesm

(B) 1000 sTsed

(C) 1 Taferm =mged

(D) 1 Taferz foed

HDMI 1 foefiid €9 %

(A) TE SFATE AeeiHifean s=ha
(B) = SFFAYH FARY sevhd

(C) T fFHTer HO g

(D) T SMRATH AT $=THE

BRI-618 P.T.O.



37. Whose function is not available in MS-

38.

39.

Excel ?

(A) Sum()
(B) Count
(C) Max

(D) Add

Which Operating System is used in Graphics

Designer or Multimedia ?
(A) Window vista

(B) Mac OS

(C) Unix

(D) Linux

Which type of software to create and manage

text Document ?

(A) Web Development
(B) Word Processing
(C) Spreadsheet

(D) Graphics

B-173

37. R HRM TH.UE. TRA § 3T 6
T2
(A) Sum()
(B) Count
(C) Max

(D) Add

38. Y AR faeen w1y fesmea iR
AeErife | A ® ?
(A) fooer fawn
(B) ¥% siwa.
(C) Afver

(D) wrEAsd

39, fFT THR & WA & &7 379 TR

SN TEAeST AT 3R &S FEA © 2
(A) 99 STATHE

(B) &€ UEIfET

(C) Hesfte

(D) Wftherd

(14) BRI-618



40.

41.

42.

43.

Unwanted E-mail is known as :
(A) Spam

(B) Palm

(C) Junk

(D) Lurk

How many function key is available in key
board ?

(A) 8

(B) 10

© 1

(D) 12

DVD is an example of :
(A) Outputdevice

(B) Optical disk

(C) Primary memory

(D) Hard Disk

Window Vista is an example of :
(A) Application software

(B) Browser

(C) Operating System

(D) Share ware

B-173

40.

41.

42.

43.

i $-et FHean ¥
(A) =
(B) WreH
(C) S

(D) oI

1 are H Rt wae ‘Y Bt § 2

(A) 8
(B) 10
(©) 11

D) 12

DVD fr=fafed 1 T ST &
(A) eTSeqe fearw
(B) siffcshat fewn
(C) wrafwe wfa
(D) = few=

et forer foneraht Tk ST ® 2
(A) THEHYA HEER

(B) IMEH

(C) sifqfen faen

(D) IR AW

BRI-618



44. Which program provides facility to access

45.

46.

web pages ?
(A) Web
(B) Browser
(C) ISP

(D) URL

Which software is used to reduce size of file
or folder in Window ?

(A) Compiler

(B) Interpreter

(C) Hero

(D) Winzip

Who is the First Programmer of Computer ?
(A) John Napier

(B) AdaAugusta

(C) AlanTuring

(D) Mark

B-173
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44, HIFE I I GEEAT T TgA i glaen

45.

46.

TS AT ?
(A) a9

(B) ISR
(C) sTETE.

(D) 7M.

fauel § wEA W wieeT HI 959 hl HH
w0 & T S Siream® s9E | form

ST E ?
(A) HFTETR
(B) T=UR
(C) B
(D) femfom

FHE HT IIH TR FF € ?
(A) S AR
(B) TET ST

(C) TeH g
(D) A&

BRI-618



47.

48.

49.

50.

PDA stands for :

(A) Private Digital Agency
(B) Public Data Agent

(C) Personal Digital Assistant

(D) Personal Device Assistance

Which is not a protocol ?
(A) Pentium

(B) POP,

(C) TCP/IP

(D) SMTP

The term ‘Mnemonic’ is related to which
programming language ?

(A) Binary

(B) Assembly

(C) Machine

(D) Python

How to identify the computer on the

Internet ?

(A) IP address
(B) www
(C) Nodes

(D) E-mail address

B-173
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47.

48.

49.

50.

PDAFI TUAHT :

(A) Private Digital Agency
(B) Public Data Agent

(C) Personal Digital Assistant

(D) Personal Device Assistance

S IEl Tk GIeihiel T8l & ?
(A) Pentium

(B) POP,

(C) TCP/IP

(D) SMTP

“freifrer’ forg o | Tt § 2
(A) TR

(B) sTEwIA

(C) i

(D) 9r=eH

TG W HT HI Id1 fhd TRR =
Sy ?

(A) oTE.dl. TgH

(B) WWW

(C) g

(D) 3%t TgH

BRI-618 P.T.O.



S1.

52.

53.

54.

Which one is not the type of Broadband
connection ?

(A) Satellite

(B) DSL

(C) Dialup

(D) Cable

Which device provides Highest Printing
Quality ?

(A) Projector

(B) Plotter

(C) Printer

(D) Scanner

System BIOS store in which memory ?
(A) RAM
(B) ROM
(C) Cache
(D) HDD

Which is not related to Hardware ?
(A) Scanner

(B) Track ball

(C) Interpreter

(D) Stylus

B-173
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S1.

52.

53.

54.

AT T FEATE FHART T THR G © 7
(A) HeEe

(B) DSL

(C) TP-5T

(D) o

FHIFET SR GIY o UM i TG
IME ?

(A) TSR

(B) =X

©) fi=

(D) ®hT

faeen s fe F6 & gufeq § 2
(A)

B) I\

(C) F

(D) HDD

FHI TEATR Y Tt TEl § 2
(A) =T

(B) et

(C) 3=WH

(D) wrEad

BRI-618



SS.

56.

57.

58.

Toner is related to which type of Printers ?
(A) LASER

(B) InkJet

(C) Thermal

(D) Drum

Who is the developer of Punchcard ?
(A) Dennis Ritchie

(B) Rayan

(C) Blase Pascal

(D) Herman Holrith

In MS-Paint thousands of colours are based
on:

(A) RGB

(B) CMY

(C) BRB

(D) CMK

=Sum (B1 : B8) is an example of :
(A) Function

(B) Formula

(C) Reference

(D) Range

B-173
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5§

56.

57.

58.

. 3R o e o fifex & e ¥ 2
(A) T
(B) ¥
(C) emat

(D) &+

kTS 1 T foRem foram e 2
(A) = =

(B) @M

(C) =it 9r&nd

(D) T ARy

TA.TE. = 4 R O forg oX enenfia € 2
(A) RGB

(B) CMY

(C) BRB

(D) CMK

= Sum (B1 : B8) T TR T :
(A) TR I

(B) RIeen =1

(C) TH= &I

(D) ™=

BRI-618 P.T.O.



59. Which is not an example of font style ?

(A) Bold
(B) Italic
(C) Regular

(D) Subscript

60. Which shortcut key is used to edit the data

61.

ofacell ?
(A) F1
(B) F2
(C) F3

(D) F4

What is the maximum zoom of a slide ?
(A) 500%
(B) 400%
(C) 100%

(D) 700%

B-173
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59.

60.

61.

FHITE T FI< WIS 1 IS0 Taf & 2
(A) diee

(B) sferh

(C) TR

(D) HafeRe

el TSR o 1 T e @ =
TRed w & fore foman s & 2

(A) F1

(B) F2

(C) F3

(D) F4

T TASE I SAfeehad S e g & 2
(A) 500%
(B) 400%
(C) 100%

(D) 700%.

BRI-618



62.

63.

64.

“What If Analysis” is used to open ?

(A) Senario

(B) Goal Seek

(C) Solver

(D) Allofthese

Which Tab is used to apply animation on a
slide ?

(A) Format

(B) Design

(C) Animation

(D) Custom

The smallest unit of a worksheet is called as :
(A) Sheet

(B) Cell

(C) Book

(D) Name book

B-173
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62.

63.

64.

“What If Analysis™ 31 SR SN
% fore foram simar &1

(A) oAt

(B) Tt Hieh

(C) HieR

(D) & |t

TS W THEYHE oH & fau feg 39 =
ST fRen ST ¥ 2

(A) TS
(B) fesmea
(C) TR

(D) &H

Teh TRIE i Tl DIt THE TN ?
(A) ¥t
(B) Ta
(C) I%

(D) =9 g%

BRI-618 P.T.O.



65. Which bar of MS-Excel displays the formula 65. TH.UH. THAH T R UnTlic'll R HaM
and function ? YT Rt ® 2
(A) Function Bar (A) HRHM IR
(B) Formula Bar (B) Wigal IR
(C) Math Bar (C) HY IR
(D) Calculation Bar (D) HTHTH IR
66. Convert Decimal (25),, to Binary : 66. =faHa (25)19 I A | Sgfag
(A) 11011 (A) 11011
(B) 11000 (B) 11000
(C) 10001 (C) 10001
(D) 11001 (D) 11001
67. Convert Binary (101010), to decimal : 67. SIS (101010), 1 A9 | s_faC
(A) 43 (A) 43
(B) 40 (B) 40
(C) 41 (C) 41
(D) 42 (D) 42

B-173 (22) BRI-618



68.

69.

70.

71.

Shortcut key of Undo and Redo is :
(A) Ctrl+Zand Ctrl+Y
(B) Ctrl+Xand Ctrl+Y
(C) Ctrl+Zand Ctrl +X
(D) Ctrl+Yand Ctrl +Z

Spam s related to:
(A) e-mail

(B) Spreadsheet
(C) Word processor

(D) Presentation

To design the webpage code written in which
language ?

(A) C++

(B) Assembly

(C) Winzip

(D) HTML

Which part of CPU is responsible for

calculation ?

(A) ALU

(B) CU

(C) Registrar
(D) Motherboard

B-173
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68.

69.

70.

71.

(A) Ctrl+Z 3R Ctrl+Y
(B) Ctrl+X3RCtrl+Y
(C) Ctrl+Z 3R Ctrl +X
(D) Ctrl+Y 3RCtrl+Z

Ty Gt g—
(A) A

(B) &iewfie
(C) I€ IR
(D) IS=3H

Je0s] i fesmed & fau @rs fma wmo |
o ST § ?

(A) C++

(B) Assembly

(C) Winzip

(D) HTML

CPU &1 ShIFE1 9T 70T &34 & ferg S9amt
g2

(A) ALU

(B) CU

(C) Registrar

(D) Motherboard

BRI-618 P.T.O.



72. USB stands for : 72. USBHI QUM T :

(A) Universal Source Band (A) IFHaga 9" S0
(B) Unique Serial Bus (B) Ife Hiftaa a9
(C) Universal Serial Bus (C) IFada e a9
(D) Universal Serial Band (D) IArerEa e ST

73. Caps Lock and Num Lock are which types 73. & @ik 31 9 Wi {9 YHR F Hioar

ofkeys ? g7
(A) Functionkeys (A) Functionkeys
(B) Toggle keys (B) Toggle keys
(C) Numeric keys (C) Numeric keys
(D) Symbolickeys (D) Symbolickeys
74. Which is the largest unit of memory ? 74, TERI HT FIH TSI THE B § 2
(A) GB (A) GB
(B) YB (B) YB
(C) 1B (C) TB
(D) MB (D) MB

B-173 (24) BRI-618



7S.

76.

77.

78.

Which is the name of first network of
world ?

(A) ARPANET

(B) OSI

(C) TCP/IP

(D) Wifi

Light Pen should be used on which type of
monitor ?

(A) CRT

(B) LED

(C) OLED

(D) Plasm

Which key is used as a Cancellation Key ?
(A) Tab

(B) Shift

(C) Esc

(D) Ctrd

Which language is used to work with Al
(Artificial Intelligence) ?

(A) CH++
(B) Python
(C) Java
(D) Prolog

B-173
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7S.

76.

77.

78.

TOR H JoH g ol AH 1T ?
(A) ARPANET

(B) OSI

(C) TCP/IP

(D) Wifi

T3 U 1 STANT hael fohd TR & AT
T HEAT =Y ?

(A) CRT

(B) LED

(C) OLED

(D) Plasm

TRt aferan 1 | w37 & T for 351 a1
STERT R S ¥ 2

(A) Tab

(B) Shift

(C) Esc

(D) Ctrd

HITH AN H ST Al (STfEwRE
TRES) & WY wE HE H AT ?

(A) CH++

(B) Python

(C) Java

(D) Prolog

BRI-618 P.T.O.



79.

80.

81.

82.

A website is collection of :
(A) Webpage

(B) Hardware

(C) Software

(D) Video

.comisrelated to:

(A) Private Organization

(B) Arttistic

(C) Commercial Organization

(D) Military

Which language computer can understand ?

(A) Processing

(B) Binary
(C) Ternary
(D) Octal

Which file is used to start the MS-Word ?

(A) Winword.exe
(B) Word.exe
(C) MS-word .exe

(D) None of these

B-173
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79.

80.

81.

82.

T SoHEe WUR BAI ¢
(A) Webpage b1

(B) Hardware 1

(C) Software 1

(D) Video=ht

.com T & :

(A) Tt gz &

(B) enfefe® &

(C) anforfsores Ten 9
(D) fafedt &

THEH R AT FHSAT T 2
(A) Processing

(B) Binary

(C) Ternary

(D) Octal

FHIAl A HT TN TH.TE.TE & HH
HE@E ?

(A) Winword.cxe

(B) Word.exe

(C) MS-word .exe
(D) 7 & FIE T&l

BRI-618



83.

84.

8S.

86.

Who is the father of modern computer ?
(A) Charles Babbage

(B) ElanTuring

(C) Bill Gates

(D) Raymonds

Optical Device is based on :
(A) Laser Beam
(B) Rubber Ball
(C) LightSignal

(D) Fiber Channel

BCR stands for :

(A) Bar Code Reader
(B) Base Code Reader
(C) Binary Code Reader

(D) Basic Code Reader

Which one is a super computer of India ?
(A) Sunway

(B) Smith

(C) Pratyush

(D) Tianhe
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83.

84.

8S.

86.

STk FreeR & fadt o € 2
(A) = o

(B) e Zf

(C) foet 1w

(D) TUEH

Fifeshel SURTO eI © :
(A) &S HfH W

(B) &€ s W

(C) = fama

(D) PIER HA

BCR &1 90 19 T :
(A) IR e X
(B) =9 whis =X

(C) =TT &hre X

(D) 3w Fre o=

HITEN T RA HI R FEIR T ?

(A) &9
(B) Ty

(C) I@
(D) &M

BRI-618
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87. Who s the inventor of ‘Difference Engine’ ? 87. “feh—a s 1 Wisthdl A § ?

(A) AlenTuring (A) TEA R
(B) Charles Babbage (B) = o
(C) Simur Cray (C) 9 %
(D) Augusta (D) AT

88. Which device is required for Internet 88. T=re wiwE & fau few Ifm =t

Connection ? SMATIHT Bt & ?
(A) Joystick (A) STafees
(B) Modem (B) Oeg
(C) CD-Drive (C) HiEt-gra
(D) NIC Card (D) NIC card

89. VGA stands for : 89. VGA =1 I M ST
(A) Video Graphics Array (A) Sifedr mfrer W
(B) Visual Graphics Array (B) fage miwerd W
(C) Volatile Graphics Array (C) drciersd Ihed W
(D) Video Graphics Adapter (D) ditfedr MRy TS
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90. Which of the following is a part of the CPU ?

91.

92.

93.

(A) Printer
(B) Keyboard
(C) Mouse

(D) ALU

A computer cannot ‘Boot” if it does not have

the:

(A) Compiler

(B) Loader

(C) Operating system
(D) Assembler

Chief component of first generation computer
was :

(A) Transistors

(B) Vacuum tubes

(©) IC

(D) None of these

VDU is also called :
(A) Screen

(B) Monitor

(C) Both(A)and (B)
(D) Printer
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90. fr=feied # | HH-91 9.7, &1 U few

91.

92.

93.

%2

(A) fo=
(B) i-drg
(C) =S

(D) T,

A 75 T8 A TH FEgR g2’ T W
TRl §

(A) FHTER

(B) weX

(C) sATmfen faen

(D) STEH™IER

et Hg & HEER T T T o
() =

(B) SR T

(C) gl

(D) =78 ¥ % &

VDU &I 7% ot el S e :
(A) ®hTT

(B) Wit

(C) (A) ¥ (B) S
D) fo=
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94.

9s.

96.

97.

Track-Ballisa:
(A) Inputdevice
(B) Outputdevice
(C) Program

(D) None of these

The First Web Browser is :
(A) Mosaic

(B) Netscape

(C) Internet Explorer

(D) Collabra

Junk e-mail is also called :
(A) Spam

(B) Spoof

(C) Sniffer script

(D) Spool

Malicious software is known as :

(A) Badware
(B) Malware
(C) Malicious ware

(D) Illegal ware
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94.

9s.

96.

97.

& WA TH ©
(A) FTI2 TR
(B) smseqe iR
(C) 9RmH

(D) T ¥ ®E &

YEeTl 3 S §—
(A) ¥R
(B) e=hu

(C) TR THRITRY

(D) SRieTs

Sk $-Hel S HEU T
(A) &H

(B) ¥®

(C) & fope

(D) ¥qa

YUl TSR & ®9 § ST S §
(A) TSIH
(B) T
(C) FefiE=g IR
(D) T 9o

BRI-618



98. Theuniversal gateis :

99.

(A) NAND gate
(B) OR gate
(C) AND gate

(D) None of these

The server on the Internet is also known as :

(A) Hub

(B) Host

(C) Gateway

(D) Repeater

100. The body tag is usually used after :

(A) HTMLTag

(B) EM Tag

(C) TitleTag

(D) Head Tag
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98, i e ¥—
(A) NAND gate
(B) OR gate
(C) AND gate

(D) T8 ¥ ®E &

99, LI T He Teh 37 T & i ST S
T
(A) &
(B) T
(C) e
(D) Rdex

100. ST S T FAM W fHES oE S
T2
(A) HTML Tag
(B) EM Tag
(C) TitleTag

(D) Head Tag
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